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Question Number : 1 Question Id : 27028218780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level 1s:
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Options :

To prepare students to pass examination
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To develop the capacity to take decisions
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To e1ve new information
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To promote teacher-centred learning
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The primary duty of the teacher 1s to
S cind (@oed 850



Options :

Raise the intellectual standard of the students.
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Improve the physical standard of the students.
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Help all round development of the students.
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Inculcate value system in the students.
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Question Number : 3 Question Id : 27028218782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Generally the most effective approach dealing with the child's aggressive behaviouris
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Options :

to channel his/her aggression mto legitimate areas of competition.

| BD[0ED ErHth BHB55H DO S orBoBen Bahdo

to reward him/her for friendly behaviour and to ignore his’her aggressive behaviour.
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to give him due punishments, when he shows aggressive tendencies.
5B (RGN Babinth 88o0dto

3. %
to msist that he/she apologies for his undesirable behaviour.
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Question Number : 4 Question Id : 27028218783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Which of the followmng statement is not correct with regard to lecture method in teaching?
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Develops reasoning
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LImproves knowledge
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It 1s one way process
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In this Method students are passive
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Question Number : 5 Question Id : 27028218784 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

"A diagram speaks more than 1000 words." The statement means that the teacher should
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Options :

use diagrams in teaching.
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speak more and more in the class.
| 3018 KOS Q¥ HréreeD.

use teaching aids in the class.
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not speak too much in the class.
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Is Section Default? : null
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a main task of research in modern society?
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Options :

to keep pace with the advancement in knowledge.

8 HACH Eﬁﬂ%ﬁo@s Hwothotdo

to discover new things.
Ardrogronn Baftato

to write a critique on the earlier writings.

18 8300z Dhirds 58855 Saheo
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to systematically examine and critically analyse.

Bz 5888, DI0G)eH)E DEhes DabHeo.
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Question Number : 7 Question Id : 27028218786 Question Type : MCQ Option Shuffling : No Is
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Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0
The research that applies the laws at the time of field study to draw more and more clear ideas
about the problem s:
Slron estfadios® S Homofoils someih Medorr Ho890EIE eSiEHs Adired
sdiango T2 H68%G téo:
Options :

Historical research
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Action research

Experimental research

BErREE D08

Case study
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4, ®

Question Number : 8 Question Id : 27028218787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The experimental study is based on:
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Options :

The manipulation of variables

v 36@5}@5& @BnE) shEr5H

Conceptual parameters
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Replication of research
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Survey of literature
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Question Number : 9 Question Id : 27028218788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sampling methods is not based on probability?

1Bob 57°0F° Hogrdedsh eHHBoSY HASEHS Diéé?_‘v 6 ?
s 5 c :
Options :

Simple Random Sampling
OBE alrthing H8IahHo

1. %
Stratified Sampling
HOES (H8Sahso
2.%  OF
Quota Sampling
v B%er (5@3ahs0
Systematic Sampling
185D (23&SchEo
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Question Number : 10 Question Id : 27028218789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the first step in starting the research process?

1Bob TS 5

Options :

Searching sources of tools.

58880 Hbore aegroresh S8 o03Eo

Survey of related literature
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Identification of problem
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Searching for solutions to the problem
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Question Numbers : (11 to 15)



Question Label : Comprehension

Read the passage and answers the question from 11 to 15:

By the mid-nineteenth century, mass production of paper patterns, the emergence of the home
sewing machine. and the convenience of mail order catalogues brought fashionable clothing into
the American home. By the early twentieth cenfury. home economists working in extension and
outreach programs taught women how to use paper patterns to improve the fit and efficiency of
new garments as well as how to update existing ones.

Teachers of home economics traditionally made home sewing a critical part of their curriculum.
emphasizing self-sufficiency and resourcefulness for young women. However. with the increasing
availability of mass-produced clothing in catalogues and department stores. more and more women
preferred buying garments to making them. As a result. home economists shifted their attention to
consumer education.

Through field study, analysis and research. they became experts on the purchase and preservation
of ready-to-wear clothing for the family. offering budgeting instruction targeted at adolescent girls.
Moderm home sewing made it possible for American women to transcend their economic differences
and geographic locations with clothing that was increasingly standardized. The democratization of
fashion continued through the twentieth century as the ready-to-wear market expanded and home
sewing became more of a pastime than a necessity.
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Sub questions
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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No

Correct Marks : 2 Wrong Marks : 0

How did home sewing help American women?

Do Bty edbES Hirdol der SBahndoh?
Options :

They became field analysts and researchers.

) T PG DFehen Hdakn HOEen edit.
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They went beyond economic boundaries.
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They found good jobs.

% 008 &8 resDh Eiad
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They became excellent teachers.

s edinBis Gargridinen oot
o o 2

Question Number : 12 Question Id : 27028218792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

What improved the fit and efficiency of new garments?
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Sewing maclunes
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Mass production
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Paper patterns
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Question Number : 13 Question Id : 27028218793 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

What were the skills that were emphasized for young women?
cndhe 55 T°8) Baynd Jdemgen dnd?

Options :

Selt-confidence and self esteem
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Self-sufficiency and resourcefulness
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Resourcefulness and self-confidence
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Prudence and resourcetulness.
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Question Number : 14 Question Id : 27028218794 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

Who became experts on the purchase and preservation of ready-to-wear clothing
for the fanuly?
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Options :

Owners of department stores

1 % Garlotn thevere dhassirioen

Field-study analysts
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Young women
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Teachers of home economics
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Question Number : 15 Question Id : 27028218795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
Who was the target group?
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Options :

Young women
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School children
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Adolescent girls
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Working women
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Sub-Section Number : 4
Sub-Section Id : 2702821379
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028218796 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

The following are the barriers to effective communication except one. Find it out.

& (Bob =B8° w58 S RsbEosghi Hirery &rb)i8 t:00 efothen. o) ShfFHod.
1. Bypassing
&SR0
Proper encoding
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3. Frame of reference
@5 858
4 Physical distraction
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Psychological interference

HmiiR 550

6. Emotional interference
e Ol £7550

7 Cultural differences
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The right code is:
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Options :



Question Number : 17 Question Id : 27028218797 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

A teacher should have good communication skills. He / she will be a good communicator if
he/she

28 Kt ot Sogrip SDee BOA 605, 98D [ w3 2.8 508 QrFHEmT sokérdd:
Options :

Asks questions about his / her classroom

wédD [ @D SEKS K 1960 BHEen ethiberth.

Helps students to score good marks / grades
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Helps students to ask relevant questions
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Uses and provides mnstructional material
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Correct Marks : 2 Wrong Marks : 0

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of two which one of the following is correct?

Bots mi EH6S° Toth D samon. (80 (A) Hbdh suo (R) ef) bedatisa.
Assertion (A): Women are depicted in a negative way m the media.

(HE6S (A) : DBairs® Hirfod Haremis Sltgéﬁﬁ D@gGoT.

Reason (R): Media has furned completely unethical in modern times.

80 (R): shboie athdE seod® Jrom egdore Srosfonod.
Options :

Both A and R are true. R is the correct explanation of A

A $0cin R Botir deso, R &dB A @) 5B Dt

Both A and R are true. R is not the correct explanation of A

A 5bc%n R Bor 923059, R &dd A Gng) 585 D588 soth

A 1s false. R 1s true

A &33p, RQes0

Aistrue. Ris false
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Question Number : 19 Question Id : 27028218799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
What is ‘Synchronous Media?”
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Options :

Printed media

1 % (2085 &aie

Media providing information about the issues and events
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Live telecast

Media in digital enviromment
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Mr. Ajay completed MA Economics. He 1s going to attend an interview, He dressed for the

occasion. This 1s an example of communication,
0 D olo.o) BET0 v, odH 8 soblrgh el ST oD
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Non-verbal
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Emotional
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Sub-Section Number : 5
Sub-Section Id : 2702821380
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

The ratio to earnings expenditure of ‘A’ is 5:3 and that of ‘B” is 7:6. If the savings of
‘A’ 15 twice that of *B’ then what could be the ratio of total earnings of ‘A’ and ‘B’
together to the total expenditure of ‘A" and ‘B,
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Options :
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Two trains running at 45kmph and 54 kmph cross each other i 12 seconds when they

run in opposite directions. When they run in same direction. a person in the faster

train observes that he crossed the other tramn i 32 seconds. The lengths of the two

trams are (in meters)
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Options :
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Correct Marks : 2 Wrong Marks : 0

In a factory. for every five unskilled workers. there are two skilled workers. If 10

unskilled workers are dismissed and two skilled workers are taken. then the ratio of

skilled workers 1s half. How many skilled workers are there m the factory?
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Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence : 6. 14, 36. 98. 15
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Options:
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BUTTER is coded as 123345 then the code for TUBE 1s
‘BUTTER® ‘123345 1 56 ToHG08. e@H 1 'TUBE' o0 86
Options:
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Sub-Section Number : 6
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Missing group of letters in the following
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As ‘BDEG’ 1s related to ‘DFGI’ so ‘HKMO' related to

‘BDEG’ & ‘DFGI’ & $02)0¢%:30 03¢, @3 DA™ ‘HEMO’ & $02508580
Options :

INOQ

1. %

, « TMOP

3.v IMOQ

INLP
4. =
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Which among the following statements is correct based on the following Venn

diagram

808 IS VS0 SO0 [2edeinrede AR

Options :

| x Some X'sarenot W. (503 X e Wen 5D )

, % some Y'sarenot W. () Yen Wensdn)

» X'sareY's. (XenYen).

4V Wisarenot Z. (WenZew 5¢w)
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The odd one among the following is

80O TS AR, 2.8 VOO NOoWE

Options :



Rose ( (D ey3) )

5 % Lotus ( @o08)

3 Orange (0°002 )

4w Lilly (5e0)
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g

. There are three married couples m a famuly of three generations. A 1s grandson of H;

G 1s the mother m law of C; D and E are brothers. B 1s only nephew of E. Fis the
sister in law of D. B 1s the son of C. How is B related to G ?
P ST 50EN00ET, WP DFEre 20N G aN. A, H B0E), e G
@6 € G3nE) 9; D o000 E &FSen. B, E Ghod) 3oee0; F, D BoE), H6& B
Sotocen (sister in law), B, C G30%), 505, B G & der Hoaoo?

Options :

1 = Daughter (Boeedd D)

- Wife (23°8§)

5  Grandson (e0IED)



. cimeh
4 % Daughter in law (5Caew)
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Note: The questions Q. 31 to Q. 35 are based on the following information:
Ha0E: (38160 Q.31 b0 Q.35 508, 808 JArirdo SO &) o,

The performance of 5 batsmen A, B, C, D and E playing for a team in a cricket series
of five 20-20 matches is presented in the following pie charts. The first pie chart indicates the
distribution of total runs scored by the team in the five matches and the second pie chart
indicates the distribution of total runs scored by each batsman in the entire series. Assume
each batsmen played in each match and the sum of individual scores of batsmen constitutes
90% of the total runs scored by the team in each match.

2.4 9% 2020 57885 © 5008, 2.8 26D FB% ey A, B, C, D B0 E @ 2058
2rge3of estord Gng) HBHe (HABND, 808 Bod SETd dtuwod Fod

BIDEI0. Jokd D b b éJDFSSmeSﬁ oty 308 Ao Bibe ek Hrod. HEAM
BOdS 26260 (296 36T @) S35 O 0D TN O Db ArdN08. ()6

et @) SF5S O SR, HO0H 87 7S OF DAHAD eerr HEiHe Fnddw,
& 26D T F0ea HHHOS 90% 9T,

Sub questions
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The percentage of runs scored by the batsman E m the five matches scored by the

team 1s

28 atp 0iH FrsSos® TAH HDHOS, e ED G0 H8He Féo
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The percentage of runs scored by batsman E in the runs scored by batsman C is

2263728 € TS HDHOE, 27665 ) 57 E TS HBier 7ebo

Options:

1. % 10
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By what percent C scored runs more than that of D?

23°2€3 ) TS D $0T) C DE0LT Do) 0i0e) 3°¢h0 J0eh ?

Options :

1. % 10
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In the runs scored by the team in all matches, the batsmen scored less than 26 % runs
are
) Frsos’ 26 .5 T H&HOS, 26 TS0 Lo b H&en

Options:

Aand B
1 % AoNOA B

A.Band D

, » A.B 08a» D

A Dand E
A.D DA E
3

A B . Dand E
4 x A.B.D0OAW E
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In the total runs scored by the team. the percentage of runs scored by B and C
together 1s

260 &%).5 T s HOHOS, B B0 CEOD T Hke Te0
Options :

1% 2177



2_ W

3 % 55.00
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Which device i1s required for the Internet connection?
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&y

& s Al e =yt oy o i
2066583 e0:onrR8 o) HBEBo eddo

Options :

Joystick

Modem

2. OGeD

D Drive

P!

n

30
£
[=]
L&
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3.6, 8. =50
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-

A

4. %
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Junk e-mail is also called

E o i i e iy £ B oo TN et
2305 B—aHONS £ dHorr Brd Denaed.

Options :

spam

D
LaF ot B
@

spoof

S0V

o

snifter script

b B3

3. %
spool
S
4. %
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Which of the following is not a protocol used for infernet communication

2066385 Harmred® 180d 7ASE° & (s aeisn.

Options :

TCP/TP
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Which of the following files can be opened m browser without any plugins

o b aden Bore (F'abs® Bod 8S° 5 o BBHKOEN.

Options :

mdex.doc
aoiﬁ%. wE

1. #



mndex html
ao(ﬁgrj. AT TN Y ]

index ppt

3 % 50855y 20

imndex dot

5086y &otd
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ICT in governance will not aim at

gbe ICT @wE) efo 56575

Options :

E-government : the application of IT for mtra-govermmental operations

(Government to government or G2G)

B5-(28h&0 : @088 (H8DHE (BEabeh IT srito
( (3800 ood (224he0 8o G2G)

E-service : the application of IT to transform the delivery of public services
(Government to Citizens or G2C)
B-nden: [P naei) 38)Er8  IT ar&8o

5 % ( (53080 00 e dor G20)



E-business : the application of IT to operations performed by government i the manner

of G2B transactions (e.g. procurement)

B-are30 : (0400 o G2B S8 5)5&{)?:}“0“&?@6 PEhe30 S0erOB

E- education
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Laterite soil contains more of
o385 HE 1 JENST Goérow.
Options:

Iron and Alumimmm

Baan, eeriibddho
1.9 =

Magnesium and boron

~ s Bl - - .-RE 1=
?‘J;&_&Oﬂ:u, 270w



Manganese and Silicates

Hrond, wé’_}qey

Potassium and lead

4% Srércdho, Hdo
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Match the following:

Bob @) e3e855)e5m.

1. World Environmental Day a. Febmary.2nd
(35508 Hogddes BIo (2330, 2
2 World Ozone day b.  Apnl 22nd
in::n::U:j c\_-’l:SSEJ 250 gj‘{g}ﬁi_ 22
3. World Wetlands day c. June, 5th
1&0,0\.-51 méfﬁ __rlll." e B30 E;}J‘-'E 5
4, Earth day d.  September. 16th
$58(8 Bdo 000 16
Options :
: 1-b. 2-d. 3-a. 4-¢
5 % 1-d, 2-c, 3-b, 4-a

3 ¥ 1-c. 2-d. 3-a. 4-b



1-b. 2-c. 3-d. 4-a

L
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Eco-labelling of Commerical Products 1s regulated by
aredesg eefyBen) HoegHdes swldin ab Jabol@ob.

=%

Options :

1. ISO 14020

ISO 14010
e

3 % ISO 14030

4 » 18014040
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The EL Nino disappears in March and re-appears in

306 Y eS8 wodrdnHEod. HBAM JHH HIBEEHHHOB.
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Match the following:
£ (Bob 7HR) eefitihaim,
List -1
(D58 - 1)
=]
Il CHC

2. Co,. Methane

BOD & COD

L]
.

4. MIC

Options :

| % 1-b. 2-c. 3-e. 4-a

5 % l-c, 2-b. 3-a. 4-d

3 % 1-d. 2-b. 3-c. 4-e

4 1-d. 2-e. 3-a. 4-b
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List-II

10

(25E-2)

&
Water Pollution
80 SPeNso
Bhopal tragedy
Goard Dapdo
Noise Pollution
WRARSEOVES e
Ozone Depletion
5,8°% Sihse
Global Warming

&orEr0

2702821385

Yes

null
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The mode of educational transaction i ancient system of Gurukul education used to be
Do sreos Hdkerod Do (BB Bob wory TR SRR
Options :

Vocational based

- S)B,8HHES

Values based

> Dende r8HOSH

Skalls based

w . 5 o i
% D)EFTNO (aPSDHOES

All the above
= B

olodod
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4. =
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According to Radhakrishnan Commnussion, which of the following s not the aim of Higher Education?

UDQ': g.;; i \:’::.L n.xcl |c>.1? g &-:u P\."Eﬁb i"a\‘:é 1,"—‘_" »‘_Lc\ oo \.J&



Options :

To develop the democratic values. peace and harmony

Heearene Denden, rofarndared DosrohodSdo
= o fadl )

To develop great personalities who can give their contributions in various fields
DG Borred® ordodie IRy tiﬁ'a”;‘,&{éﬁéo

To develop vocational skills and traditional crafts

3 v DB By, FPoEErad J8HFHeD 0dHj Jchdo

To develop reasoning and critical thinking
8, DHGTHE Ha HoerdodsEo
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Foundation training to the newly recruited IAS (Probationers) is imparted by:
SrE50rT DOVBS DD (FPBVS0 egfitoo 856 =) Ny

Options :

Indian Institute of Public Administration

R o, P,
eeiSéd (Deribared Do
L

A

Administrative Staff College of India

gt HBareN 38m Serere



L.B.S. National Academy of Administration

e 4 = i By af TN -
ePHTLErOTR erach Hbares esetidh
3.¢

Centre for Advanced Studies

4 % ol eidhore Solio
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The full form of NAAC 1s
NAAC Eﬂl]ég_ B Brdo

Options :

National Assessment Accreditation Council
- 556 DDD0E w0k EBEEAS

National Assessment and Accreditation Chamber
- I5HE DDFots w0k JEEEAS Joxb

National Assessment and Adjudication Council

3 % S0S JPDD0ES ©ob EW~EEAS TS

National Accession and Accreditation Council

. J58S IS w0k ABEBAS TS
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Which of the following type of universities cannot award degrees

(Bobh A BN DEE NoDOGOLS ;’y.‘::gm; adweRE ehadl) d&dugodiren
= o, ? ) ol gl
Options:

State University

Private University

p

e S v LT -eh

AFN Ay a,lﬁn:mcrvf;@cﬁlah
¥ i

Deemed to be University

&5& DEDoegecho

None of the above
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The First law of thermodynamics relates to
Options :

| % conservation of motion

5 % conservation of velocity

conservation of mass

conservation of energy
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A process where new species are formed within the range of the ancestral
Population

Options :
| % Parapatric speciation

5 Sympatric speciation

Mesopatric speciation



Neopatric speciation
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In a forest ecosystem pyramid of number 1s

Options:

1 % Inverted pyranud

5 % Upright pyramid

_— Spindle shaped pyramid

4% Straight pyramid
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Progressive accumulation of some non-biodegradable chemicals through the food
chain 1s known as

Options :

_— Spanish ecosystem

Bio-degradation

3 % Agro ecosystem

P Bio-magnification
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In-situ Bioremediation are also called

Options :
| » Blomolecule

5 % Biopiles

£ v & [:FI ‘:I.
3 ¥ Biospraging



Biogaming
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The Bath-tub effect is related to the following

Options :
Ocean landfill
5 Incineration

Sanitary landfill

4% Compaction
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The most commonly used coagulant in wastewater treatment

Options :



., Copper sulphate

Aluminium sulphate

Ferric chloride

Magnesium chloride
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Which of the following is not a cause for loss of Biodiversity
Options:

Invasion of alien species

P Keeping animal in zoological park

- Destruction of habitat

Over-exploitation of natural resource
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The physical isolation of population due to the extrinsic barriers is called

Options :

., Parapatric

5 % Sympatric

3 ¢ Allopatric

4% Neopatric
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Raunkiaer on the basis of frequency figure proposed the following law of
frequency

Options :

A>B>C=D>E
1. >



A=B>=C=D=E
=

Question Number : 61 Question Id : 27028218842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On

Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

1. Germination S 1

. Vegetative Growth J\ 2
.Flcrwering chia
. Fruat Formation > 15
. Seed Maturation
. Death

[ o]

oo e
n
Cad

Options:

Phenotype

Phytophases



Physiogonomy

Phenology
4.
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In India the First Biosphere Reserve came into being in the year 1986 is

Options :

| @ Niligiri Biosphere Reserve

Panna Biosphere Reserve

Nokrek Biosphere Reserve

4% Nanda Devi Biosphere Reserve
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The scientist who considered Niche as the behavioral unit
Options :

John Elton

5 @ Joheph Grinnel

John Hutchinson

Joheph Brickson
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Total number of sampling units 1n which the species occurred

. = : X 100
Total number of sampling units studied

Options:

. Abundance

5 % Density

Frequency
e



Species
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Predator — prey model proposed by Lotka and valterra was in the year

Options :

| 1927

, x 1937

1947

4 % 1957
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In a tiger reserve the tiger is placed in the



Options :

- Center of the food chain

5 % Core of the food chain

3 % Bottom of the food chain

Apex of the food chain
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One 1s equal to one metric tons of carbon dioxide or equivalent

arecn house

Options :

Carbon credits
, « Calcium credits

5 » Quality credits

Bank credits
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The place where two major communities meet and blend together 1s called

Options :

Ecosystem
1. % =

Ecotone
w

Ecoline
3. =

Ecotvpe
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1s the wild life trade monitoring network
Options :

UN-HABITAT

1. %
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What are the two forms of alcohol included in biofuels
Options :
Methanol and Butanol

1. #

Propanol and Ethanol

3 % Propanol and Methanol

Ethanol and biodiesel
4. <
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The first carbon dioxide measurement exchange tower was set up in
Options :

| % Guyjarat

5 % Kerala

Maharashtra
3. %

Uttarakhand
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The cyclone disaster should consists of the following components

1. Mitigation, preparedness .response and recovery

2. Preparedness. vulnerability assessment, risk assessment and recovery
3. Mitigation. risk assessment. response and recovery

Options :

1% 2



, » 2andl
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2 and 3
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Sub-tropical pine forest 1s found in

Options :

Northern parts of Madhya Pradesh

5 Northern parts of Assam

,, Coastal parts of Tamil Nadu

Coastal parts of Andhra Pradesh
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Match and select the correct answer using options

A Succession on rock 1. Psammosere

B. Succession on Sand dune 2. Halosere

C. Succession on water 3. Lithosere

D. Succession on salt marsh 4. Hydrosere
Options :

A-1 B-2 C-3 D-4

2. #
- A-4 B-1 c-3 D-2

3 #
A-3 B-4 C-2 D-1

4. %
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The plant species which are the survivors of geological past are known as
Options :

Neo endemic



Paleo endemic

Relic endemic

Pseudo endemic
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Give an example of key stone species
Options :

- Sea anemone

Sea ofter

Panther

Leopard
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Biogeographically India 1s sifuated at the tr1 junction of three realms namely
Options :

Afro — Tropical. Indo — Malayan and Paleo Artic realms

American — Tropical. Indo — Malayan and Paleo Artic realms

3 % Afro — Tropical. Indo — Malayan and Neo Artic realms

Afro — Temperate. Indo — Malayan and Paleo Artic realms
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Taxon which is not critically endangered but 1s facing a very high risk of
extinction in the wild in the near future is

Options :

Extinct in wild (EW)

5 % Critically endangered (CR)



Extinct (EX)

4 Endangered species (EN)
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Which Act ensure environment and ecological security to wild animals, birds and plant
species of country

Options:

| @ Wildlife Protection Act 1972

Wildlife Protection Act 1980

Wildlife Protection Act 1991

4% Wildlife Protection Act 1985
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What 1s the formula for calculating ANOVA?

Options:

F =MSE / MTE

1. #

5 ¢ F=MST/MSE

, » F=MET/MSE

F=MST /EMS
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One of the best examples of k selection species are
Options :

Monkey and Cheetah

5 % Tiger and Lion

3 @ Elephant and Bison



Rhinoceros and hippopotamus
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In India which environment Legislation makes compulsory to obtain prior

approval of Central Government for diversion of forest lands to non-forest
purpose

Options :

1 & Forest Conservation Act 1980

5 % Traditional Forest Dwellers Act 2006

Indian Forest Act 1927
3. %

Environment Protection Act 1986
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The Three Mile Island 1n 1979 and Chernobyl disaster 1986 they qualified as

technological disaster

Options:

., They hosted the Earth Summit

It was a site of a large o1l spill

They hosted the Kyoto Protocol

v It was a site of nuclear accident
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Which region the earth the EI mino southern oscillation occurred
Options :

| % Indian Ocean

, « Pacific Ocean

5 x Polar region



. Non polar region
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Which one 1s not a theory of environmental ethics
Options :

- Ecocentricism

Anthropocentricism

“ Ethnocentricism

P Biocentricism

Question Number : 86 Question Id : 27028218867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
The following is the most preferred solid waste management hierarchy

Options :



Recycling source reduction, reuse, resource recovery. incineration and
landfill
7

Combustion source reduction. recycling. resource recovery. incineration and
landfill

Source reduction. reuse. recycling. resource recovery. incineration and
landfill

land filling source reduction, reuse. recycling, resource recovery and
Incineration
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Which of the following waste shows very high BOD?
Options :

_ Agricultural waste

Pesticides

3 @ Sewage



Domestic waste

Question Number : 88 Question Id : 27028218869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

Damage to leaf structure by air pollution cause

1. Chlorophyll reduction
2. Dropping of leaf
3. Dead area of leaf

Options:

3 and 1

2and 1

1.2 and 3
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Biological treatment of wastewater 1s called

Options:

- Primary Treatment

v Secondary Treatment

Advance Treatment method

, Common Treatment method
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Noise 1s measured unit
Options :

| % Second

Hz

Joule
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Enrichment of inorganic nutrient in water body 1s known as
Options :

Mesotrophication
e

_ Oligotrophication

v Eutrophication

Nanotrophication
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What GRIHA means

Options :



» Green Rating for Integrated Habitat Assessment

Green Rating for India Habitat Assessment

. Green Rating for International Habitat Assessment

Green Rating for Information Habitat Assessment
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project was first implemented in Odisha i 1975
Options:

- Tiger conservation project
Elephant conservation project

3 v Crocodile conservation project

4% Musk conservation project
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The largest Ramsar sight in India

Options :

1 % Chilika lake

Renuka wet land

. Keoladeo national park
W

. Sunderban
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Ecological 1ssue related with Tehri Dam was taken by the leader of Chipko
movement
Options:

Rahul Bahuguna



5 % Madhu Patkar

_ Ram Patkar

4 Sri. Sunderlal Bahuguna
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Nuclear energy can be generated by

Options :

1 % Nuclear fusion and nuclear motion

5 @ Nuclear fusion and nuclear fission

3 % Nuclear freezer and nuclear fission

4% Nuclear freedom and nuclear fission
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Which of the following 1s an extinct species?

Options :

Red panda

5 @ Dodo

Great Indian bustard

Dugong
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Illegal killing of prohibited endangered animals 1s called
Options:

Punching

Pitching
2. #®

Poaching



Pondering

Question Number : 99 Question Id : 27028218880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

Red Data Book giving the list of endangered species of plants and animals 1s published

by

Options :

P International Union for Conservation of Nature

Intermediate Union for Conservation of Nature

International Union for Consumer of Nature

International Union for Contradiction of Nature
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There are only two sanctuaries in India dealing with preservations of plants
Options :

Cinchona-Orchid
1.9

Citrus-Pitcher plant

;3 » Mango-Citrus

4 Mango-Pitcher plant

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Where do we obtain Magnified image of the specimen in SEM

Options:

Manning generator

5, % Anode ray tube

Scanning generator



4 Cathode ray tube
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The law used as the basis of analytical technique in spectrophotometer 1s

Options :

1% Kirchhoff’s law

5 Beers Lambert law

Fleming law

4% Ohms law
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In chromatography which type of four node. absorption. partition. ion
exchange and exclusion are present



Options :

- Adsorption chromatography

Ion exchange chromatography

3 v HPLC

4 % Liquid- Liquid chromatography
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GC 1s used in the separation of which of the following substance
Options :

| » Low molecular weight gaseous species

Volatile organic weight gaseous species
2. % &

Thermally stable organic components

. Thermally non stable organic components
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In thin layer chromatography. the stationary and mobile phase 1s made up of
Options :

Liquid. liqud

Solid. gas
e

Solid. liquid
3.¢

Liquid. gas
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Ecological point of view DDT is harmful because it under goes

Options :

Biomagnification



Biotransformation

Bioaccumulation

Biodegradation
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A cosmetic condition that affects the teeth

Options :

1 % Necrosis

Fluorosis

3 % Fungicide

4 % Insecticide
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Which physician is the Father of Toxicology in the 16t century
Options:

, » Robinson

Gold smith

3 % Odum

Paracelsus
v
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The biophysical parameter like tree height, crown diameter and canopy is measured
using remote data from

Options :
1. ¢ CARTOSAT-1

, « INSAT-1

, % RISAT



MESAT

Question Number : 110 Question Id : 27028218891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

In the following biogeochemical cycles weathering of rocks is the main source of

nurient to enter the cycle

Options :

Nitrogen cycle

Carbon cycle
2. %

v Phosphorus cycle

Sulphur cycle
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The one which is produced during the formation of photochemical smog

Options :

1 % Nitrogen dioxide

Methane

- Hydrocarbons

4 Ozone
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Among the following which 1s not a biosphere reserve

Options :

1@ Nallamalai

5 % Agasthyamali

3 % Nilgirt

Pachmathi
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Acid rain 1s caused by

Options :

1 = Nitrous oxide and ozone

5 % Carbon oxide and sulphur dioxide

5 » Carbon monoxide and sulphur dioxide

v Nitrous oxide and sulphur dioxide
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The key feature of National Ganga River Basin Authority (NGRBA) 15
1. River basin 1s the unit of planning and management
2. One of the State Chief Minister became the Chairman of NGRBA on a rational basis

3. It spearheads river conservation efforts at national level

Options :



- 1 and 3

2 and 3

1,2 and 3

1 and 2
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What 1s o1l zapper

Options :

It 1s a genetically engineered biofuel

It 1s the latest technology to control accident from oil wells

3 ¢ It 1s ecofriendly technology for the remediation of oily sludge and oil spill

It 1s the latest technology developed for oil exploration
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Why MStRIPES is used for

Options :

1 » For captive breeding of wild fauna

5 For maintenance of Tiger Reserve

For security of National highways

n For Indigenous Satellite Navigation System
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The marine animal dugong 1s vulnerable to extinction is

Options :

Bony fish
1. % i

Shark



Mammal
3. %

Frog
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Bali action plan 1s connected to
Options :

Global climate change
1. ¢

5 % Global wildlife trafficking

3 % World trade

World life collapse
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What does Rio+20 Conference generally mention

Options :

« 1t 1s the United Nations Conference on Biodiversity

It 1s the Conference on World Trade Organization

. 1t 1s the Conference on Climate Change

4 It 1s the United Nations Conference on Sustainable Development
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An article in constitution recognizes environmental protection as one of the
fundamental duties of every citizen of India

Options :

i -q
_— Article 51 A (g)

Article 48 A (g)

3 % Article 52 A



Article 42 A
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Which indicator 1s used for the titration of a strong acid and a weak acid.
Options :

1 % Thymal blue

5 Methyl orange

Phenolphthalein

4% Thymalpthalein black
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A Geiger Muller tube 15 a-

Options :



" (Gas 1onization detector

Photographic detector

Cloud chamber

Spectrophotometer
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Graphical representation of wind velocity vector over a period of time in a polar
diagram 1s

Options :

_— Wave length

5 Wind rose

5 « Diagonal rose

4 % wind size
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1s a hot, moist biome where there 1s no dry season and rams all

year long

Options :

1 % Moist Temperate Rain Forest

5 % Alpine Forest

3 « Tropical Rain Forest

4 = Montane Sub Tropical Rain Forest
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contain Photochemical smog

Options :

Xenon
’] . e



Phosphorus

Neon

Ozone
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Nephrotoxic metals like Cd. Pb and Hg effects of humans
Options:

1 = Liver

Kidney
2.V

Lungs

Intestine
4, %
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Cryopreservation of plant seeds and pollen 1s done at a very low temperature

of —196°C

Options :

1 Liquid nitrogen

0 % Ice

5 « Ammonia

4« Carbon tetrachloride
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Kalbaisakhi 1s a kind of thunder storm witnessed 1n the state of
Options:
_— Nagaland. Sikkim and Tripura

5 @ Assam. Tripura and West Bengal



Nagaland. Sikkim and Mizoram

. Mizoram. Manipur and Tripura
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Nitrate concentration exceeding 25 mg/l in water cause health hazard
Options :

. Yellow baby syndrome

Red baby syndrome

2. #
. Blue baby syndrome
. Pink baby syndrome
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Which zone lake ecosystem does not receive light?
Options :

Epilimnion

2 Limmnetic zone

Protundal zone

4 w Littoral zone
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Leader behind Narmada Bachao Andolan was

Options :

1 ¢ Medha Pathkar

Vandana Mathur

Menaka Gandhi

Baba Amta
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The bodies of water that are flowing continuously are called
Options :

| % Biomes

., Lentic water body

Ecosystem

Lotic water body
4. &
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The following group belongs to POP
Options :

DDT. Ozone and Chlordane

1. %



) PCB’s. Dioxins and Chlordane

5 » Malathion and Chlordane

4« Dioxins and Malathion
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Stratospheric ozone absorbs UV radiations in the wavelength ranging

Options :

180 - 240 nm

1. #

200 — 400 nm

200— 320 nm
3

168 — 240 nm

4. ®
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The process of evapo — transpiration and precipitation is called
Options :

- Phosphorous cycle

, % Carbon cycle

Nitrogen cycle
3. = = 5

4 Hydrological cycle
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Project Tiger a Wildlife Conservation Project initiated by India in

Options :

1942

1. %

1972



1974

1982
4, #
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The surface which has maximum albedo 1s
Options :

Dark asphalt

Dry sand

- Dark leafy crop

Dark sea water
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International Tsunami centre 1s located at
Options :
New York

1. %

London
4

America

Honolulu
v
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2% emphysema cases result from a defective gene that reduce the elasticity of

sacs in lungs due to
Options :
Prolonged smoking and exposure to air pollution

1.+

, % Prolonged smoking and exposure to water pollution

- Prolonged smoking and exposure to marine pollution



4% Prolonged smoking and exposure to thermal pollution
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In North Eastern Himalayas which one of the following is considered as
flagship species
Options :

Ferns
’|_ )

. Nepenthes

3 % Oaks

4, » Rhododendron
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An intense. destructive cyclone rotation. developed m response to extremely
low pressure associated with meso cyclonic formation



Options :
Tsunami

1. %

Tornado

Landslide

4 % Flood
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Popular and charismatic species of an ecosystem 1s called
Options :

- Umbrella species
, » Key stone species

Flag ship species

Stone species
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is one of the disease that might spread if garbage

contaminates the supply of drinking water.
Options :

Typhoid

Malaria

Scurvy

Rickets
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If we want to be car less for a year how many tons of carbon dioxide could
be saved?

Options :

3.46 tons

1. %



4.6 tons

6.46 tons

2.6 tons
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A type of plastic that can be re-melted and re-moulded eg. buckets and jugs 1s known as
Options:

1@ Thermoplastic

Bakelite

Thermoset
3 . w

Thermostat
4. ®
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Blue smoke comes out from the exhaust of an unburnt oil in the diesel 1s
called

Options :

_— Fake smoke

Tragic smoke

P Magic smoke

Dusky smoke
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What 1s Alum?

Options :

Peptization
e



‘0Aac
5 Coagulant

Dissolution
3. %

Flocculent
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The most common indicator organism that represents polluted water is
Options :

C. vibro

E. coli

3 % P. tvphi

4 % C. spirillum
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Soil particles arranged in order of increasing size
Options :

Clay. sand and silt

5 @ Clay. silt and sand

3 % Sand. silt and clay

Silt, sand and clay
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Dystrophic lake are characterized by
Options:

1 » Lack of calcium

.. Lack of nitrogen

.. Lack of phosphorus



. Lack of sulphur



